Return to:	ANGELA MARTINEZ

LUBBOCK COUNTY TRAVEL AUTHORIZATION & PER DIEM REQUEST

THE DEPARTMENT DIRECTOR IS RESPONSIBLE FOR SECURING ALL SIGNATURES PRIOR TO TRAVEL. AN APPROVED TRAVEL AUTHORIZATION MUST BE SUBMITTED TO THE AUDITOR'S OFFICE ACCORDING TO THE ACCOUNTS PAYABLE PAYMENT SCHEDULE TO RECEIVE A TRAVEL ADVANCE. AGENDAS, BROCHURES, FLYERS, OR OTHER SUPPORTING DOCUMENTS MUST BE ATTACHED.

NAME: Garrett, Kortney				D	ATE: F	eb. 10	, 2025	
11	Last	First						
	9 9	Mashingtion,						
PURPO	_{OSE:} National	Peace Officer	Memorial	(f				
TRAV	EL DATE(S): M	ay 11-17, 2025						
	Per Diem requ	uested by the	day of				_•	
	7	# of Breakfasts	@ \$15.00	per meal	=	\$	105.00	
	7	# of Lunches	@ \$16.00	per meal	=	\$	112.00	
	7	# of Dinners	@ \$30.00	per meal	=	\$	210.00	
			Total	al Advance	=	\$	427.00	
Org:_	01104	630-550300	OI	oject: 0	1104	630-55	0300	5-27.05
_1	Many Suele DYPE SIGNATURE	urning from this trav	ei or the tuil dav		ducted -//	and the second	iy next paycheck.	
depar cover are at	rtment's opera all reimbursal ttached and _	tions. There are sole expenses incuments are incuments are incuments advance if require	ufficient unexp irred. Agenda: cluded in the re	ended funds ir s, brochures, fl gistration fee a	n the o yers, o nd will	current and sup not be	budget line item porting documer reimbursed. Plea	to nts
DEPA	RTMENT DIREC	TOR		DATE		25-	<u> </u>	
APPRO	OVAL FROM TWO	O (2) MEMBERS OF 1	THE COMMISSIO	NERS' COURT:				
SIGNA	TURE			DATE				
วดเ	and a							
SIGNA	TURE			DATE				

Return to:

Vendor#___15079

GL#

01104630-550300

LUBBOCK COUNTY TRAVEL AUTHORIZATION & PER DIEM REQUEST

THE DEPARTMENT DIRECTOR IS RESPONSIBLE FOR SECURING ALL SIGNATURES PRIOR TO TRAVEL. AN APPROVED TRAVEL AUTHORIZATION MUST BE SUBMITTED TO THE AUDITOR'S OFFICE ACCORDING TO THE ACCOUNTS PAYABLE PAYMENT SCHEDULE TO RECEIVE A TRAVEL ADVANCE. AGENDAS, BROCHURES, FLYERS, OR OTHER SUPPORTING DOCUMENTS MUST BE ATTACHED.

NAME: Martinez, Roberto	DATE: Feb. 10, 2025			
DESTINATION(CITY, STATE): Washingtion, D	ОС			
PURPOSE: National Peace Officer I				
TRAVEL DATE(S): May 11-17, 2025				
Per Diem requested by the	day of			
7 # of Breakfasts	@ \$15.00	per meal	= \$	105.00
7 # of Lunches	@ \$16.00	per meal	= \$	112.00
7 # of Dinners	@ \$30.00	per meal	= \$	210.00
	Tot	al Advance	= \$	427.00
Org:01104630-550300	0	bject:01	104630-	550300
advancement and reimbursement of exwithin ten days of returning from this trave	or the full adv	ance will be dec	lucted from	my next paycheck. 4 - 25
I hereby certify the above-requested tradepartment's operations. There are successed and performed to the cover all reimbursable expenses incur are attached and performed to the cover all reimbursable expenses incur are attached and performed to the coverage of the cove	ifficient unexp red. Agenda uded in the re	ended funds in s, brochures, fly gistration fee an	the currer ers, and s	nt budget line item to supporting documents be reimbursed. Please
APPROVAL FROM TWO (2) MEMBERS OF TH	HE COMMISSIO	NERS' COURT:		
SIGNATURE		DATE		
SIGNATURE		DATE		
NOTE: ALL SIGNATURES ARE DECUIRED FOR	TOANEL ANDIO	DED DIEM ADVI	NOTO T	

1 t	to:	ANGELA	MARTINEZ	
1 t	to:	ANGELA	MARI	INEZ

Vendor#__<u>15061</u> 01104630-550300

LUBBOCK COUNTY TRAVEL AUTHORIZATION & PER DIEM REQUEST

THE DEPARTMENT DIRECTOR IS RESPONSIBLE FOR SECURING ALL SIGNATURES PRIOR TO TRAVEL. AN APPROVED TRAVEL AUTHORIZATION MUST BE SUBMITTED TO THE AUDITOR'S OFFICE ACCORDING TO THE ACCOUNTS PAYABLE PAYMENT SCHEDULE TO RECEIVE A TRAVEL ADVANCE. AGENDAS, BROCHURES, FLYERS, OR OTHER SUPPORTING DOCUMENTS MUST BE ATTACHED.

NAME: Roman, Uriel				DATE: Feb. 10, 2025			
DESTI	Last NATION(CITY,S	First STATE): Washingtion, I	OC .				
	ALL DE L'ANNE DE LA CONTRACTION DE L'ANNE DE L	l Peace Officer			10000		
TRAV	'EL DATE(S): N	/ay 11-17, 2025					
	Per Diem red	quested by the	day of	The second hardson as the second in the second seco	er-valdert ¹ . los		
	7	_ # of Breakfasts	@ \$15.00	per meal	=	\$	105.00
	7	_ # of Lunches	@ \$16.00	per meal	=	\$	112.00
	7	# of Dinners	@ \$30.00	per meal	=	\$	210.00
			Tota	I Advance	=	\$	427.00
Org:	01	104630-550300	Ob	ject:0	1104	630-5	50300
within		turning from this trave	el or the full advo	znce will be dec Z/I DATE	ducted 7/7	l from m	travel expense form ny next paycheck.
depa cover are a	rtment's opera all reimburso ttached and _	ations. There are s able expenses incu	avel for official L ufficient unexpe rred. Agendas luded in the reg	ubbock County inded funds in brochures, fly istration fee ar	busing the converse c	ess is d current and sup not be	lirectly related to this budget line item to opporting documents reimbursed. Please
DEPARTMENT DIRECTOR			DATE				
APPRO	OVAL FROM TW	O (2) MEMBERS OF T	HE COMMISSION	NERS' COURT:	entare No Laborito		কৰিব কৰিব প্ৰতিক্ৰ কৰিব কৰিব কৰিব কৰিব কৰিব কৰিব কৰিব কৰি
SIGNA	TURE			DATE			
SIGNA	TURE			DATE			

Return to:	ANGELA MARTINEZ
	VA 665 (1976 - 1977 - 1

Vendor#__/51094 GL#_01104630-550300

LUBBOCK COUNTY TRAVEL AUTHORIZATION & PER DIEM REQUEST

THE DEPARTMENT DIRECTOR IS RESPONSIBLE FOR SECURING ALL SIGNATURES PRIOR TO TRAVEL. AN APPROVED TRAVEL AUTHORIZATION MUST BE SUBMITTED TO THE AUDITOR'S OFFICE ACCORDING TO THE ACCOUNTS PAYABLE PAYMENT SCHEDULE TO RECEIVE A TRAVEL ADVANCE. AGENDAS, BROCHURES, FLYERS, OR OTHER SUPPORTING DOCUMENTS MUST BE ATTACHED.

NAME: Barnes, Anthony			D.	_{ATE:} Fe	b. 10,	2025	
DESTINATION(CITY.	STATE): Washingtion,	DC					
5	al Peace Officer						
TRAVEL DATE(S):	May 11-17, 2025						_
Per Diem re	quested by the	day of					
7	# of Breakfasts	@ \$15.00	per meal	=	\$	105.00	
7	# of Lunches	@ \$16.00	per meal	=	\$	112.00	
7	# of Dinners	@ \$30.00	per meal	=	\$	210.00	
		Total	al Advance	=	\$	427.00	
Org:01	104630-550300	Ol	oject:0	110463	0-5503	300	_
advancement and	reimbursement of e	xpenses. I und	erstand that I mance will be de	nust sub	mit a tro from my	avel expense form next paycheck.	
department's oper cover all reimburs are attached and	above-requested transcriptions. There are stable expenses incuments are incumented advance if requested to the contract of the	ufficient unexpe irred. Agendas luded in the re	ended funds in s, brochures, fly gistration fee ar	the cu yers, an	urrent b nd supp not be re	udget line item to porting document eimbursed. Pleas	to its
APPROVAL FROM TV	VO (2) MEMBERS OF 1	THE COMMISSIO	NERS' COURT:				
SIGNATURE			DATE				
SIGNATURE			DATE				

4/30 Return to: ANGELA MARTINEZ

GL# 01104630-550300

LUBBOCK COUNTY TRAVEL AUTHORIZATION & PER DIEM REQUEST

THE DEPARTMENT DIRECTOR IS RESPONSIBLE FOR SECURING ALL SIGNATURES PRIOR TO TRAVEL. AN APPROVED TRAVEL AUTHORIZATION MUST BE SUBMITTED TO THE AUDITOR'S OFFICE ACCORDING TO THE ACCOUNTS PAYABLE PAYMENT SCHEDULE TO RECEIVE A TRAVEL ADVANCE. AGENDAS, BROCHURES, FLYERS, OR OTHER SUPPORTING DOCUMENTS MUST BE ATTACHED.

0000	ALLIATO MIDDI DE	. Anacheb.						
NAME: Tidwell, Jeremy				DATE: Feb. 14, 2025				
DESTIN	Last JATION(CITY:S	First TATE): Washingtion,	DC					
	100	l Peace Officer		• • • • • • • • • • • • • • • • • • • •				
	•	lay 11-17, 2025		15-16-70				
	Per Diem rec	uested by the	day of	NA.			*	
		_ # of Breakfasts	@ \$15.00	per meal	=	\$	105.00	
	7	# of Lunches	@ \$16.00	per meal	=	\$	112,00	
	7	# of Dinners	@ \$30,00	per meal	=	\$	210.00	
			Tota	I Advance	=.	\$	427.00	
Org:_	0110	4630-550300	Ob	ject: 01	1046	30-55	0300	
	8134 YEE SIGNATURE	urning from this trav		Z/II DATE	6/20		ny riexi puycheck,	
depart cover are att	fment's opera all reimburso fached and _	above-requested traditions. There are suble expenses incuments are incuments are incuments advance if required.	ufficient unexpe irred. Agendas cluded in the reg	ubbock County nded funds in brochures, fly istration fee ar	the covers, cond will	current and sup	lirectly related to this budget line item to porting documents reimbursed. Please	
APPRO	VAL FROM TW	O (2) MEMBERS OF 1	THE COMMISSION	VERS' COURT:		**************************************		
SIGNATI	UŖE		9) - 4	DATE				
SIGNATI	UŖĔ			DATE			A A A A A A A A A A A A A A A A A A A	
	considere de la competencia.						0 0000 WWW 0 1900 W	

Return to: ANGELA MARTINEZ

LUBBOCK COUNTY TRAVEL AUTHORIZATION & PER DIEM REQUEST

THE DEPARTMENT DIRECTOR IS RESPONSIBLE FOR SECURING ALL SIGNATURES PRIOR TO TRAVEL. AN APPROVED TRAVEL AUTHORIZATION MUST BE SUBMITTED TO THE AUDITOR'S OFFICE ACCORDING TO THE ACCOUNTS PAYABLE PAYMENT SCHEDULE TO RECEIVE A TRAVEL ADVANCE. AGENDAS, BROCHURES, FLYERS, OR OTHER SUPPORTING DOCUMENTS MUST BE ATTACHED.

NAME: Trevino, Roy		DATE: Feb. 10, 2025				
DESTINATION(CITY, STATE): Washingtion,	DC					
PURPOSE: National Peace Officer						
TRAVEL DATE(S): May 11-17, 2025						
Per Diem requested by the	day of					
7 # of Breakfasts	@ \$15.00	per meal	=	\$	105.00	
7 # of Lunches	@ \$16.00	per meal	=	\$_	112.00	
7 # of Dinners	@ \$30.00	per meal	=	\$	210.00	
	Toto	l Advance	=	\$	427.00	
Org: 01104630-550300	Ob	ject:0110	4630	-55030	00	
advancement and reimbursement of exwithin ten days of returning from this trave EMPLOYEE SIGNATURE 1 hereby certify the above-requested traveled to the control of the co	el or the full advo	Ince will be ded 2 DATE Jobock County	busir	from m - 25	irectly related to thi	İs
department's operations. There are staced and reimbursable expenses incurate attached and meals are inclusive a travel expense advance if requestions.	rred. Agendas, luded in the reg	brochures, fly istration fee an	ers, c d will	nd sup not be	pporting document reimbursed. Please	s
DEPARTMENT DIRECTOR		DATE	-2	5-0	25	
APPROVAL FROM TWO (2) MEMBERS OF T	HE COMMISSION	IERS! COURT:	ें है का स्थाप केंद्रिक स्थाप - 1	1986, see skrive fysich en en	i del tradició de la diferencia tentra de tentra de la composição de la composição de la composição de la comp	\$ * 7(\$
SIGNATURE		DATE				
SIGNATURE		DATE			**************************************	
NOTE:ALL SIGNATURES ARE REQUIRED FOR FORM CORRECTLY OR PROVIDE PROPER DO PER DIEM ADVANCES.	TRAVEL AND/OR DOUMENTATION A	PER DIEM ADVA	NCES LAY IN	. FAILU TRAVEL	IRE TO FILL OUT THE AUTHORIZATION AND	

GIVE AMBASSADORS SHOP TICKETS MEMBERSHIP HOST AN EVENT CALENDAR NEWSROOM CONTACT



DONATE

DONATE

Police Week Schedule 2025

SCHEDULE OF EVENTS

Mark your calendars for the following programs and events!

SUNDAY, MAY 11, 2025

10:00am - 5:00pm | Museum Open 1:00pm - 2:00pm | National Police K9 Memorial Service

MONDAY, MAY 12, 2025

10:00am - 5:00pm | Museum Open 2:00pm - 3:00pm | Police Unity Tour Bicycle Ride-In | Memorial 3:00pm - 3:30pm | Police Unity Tour Ceremony | Memorial 7:00pm | Honor Guard and Ambassadors Reception

TUESDAY, MAY 13, 2025

10:00am - 5:00pm | Museum Open 6:00pm - 7:30pm | Pre-Vigil Reception | Invitation Only | National Mall 8:00pm - 10:00pm | Candlelight Vigil | National Mall and Livestream

WEDNESDAY, MAY 14, 2025

10:00am - 5:00pm | Museum Open

THURSDAY, MAY 15, 2025

10:00am - 5:00pm | Museum Open 12:00pm - Midnight | Stand Watch for the Fallen | Memorial

FRIDAY, MAY 16, 2025

10:00am - 5:00pm | Museum Open

SATURDAY, MAY 17, 2025

10:00am - 5:00pm | Museum Open

Beyond the events above, all are welcome at the Memorial any time, day or night. The Memorial remains open to the public 24/7. If you are interested in attending the museum, you can get more information here: nleomf.org/museum/

Events